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vssmvuneaaulegldinata so sefifud Tuntsuihasuuusmnnrnaaouiiu
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nfugsuaznasdn dualesleges (ln  @Beuef, 2516 : 120-124)

L3

P_+ P
wehauen P o= L
L
] 2 o
= - P
wiad iU wun D Py 5

e P ouny éenugnvssdaaauinazde
Py Wmu mddauIzn huaungugiineudoaougniiu
srnunulundugaiaue
P, unu mdasdussnhsdiunduinineudeneugniy
sruaulungudifonue
D umu e11uWRIMUNYDIURAOY

AANLEN (P)  UaEAIBIURIMUN (D) veenuuneasutaadiily

Al 11
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WVREBL  UUUVAEDL  WULWAABL  Wuivedey

oth Qi 1 atiu? 2 aruil 3 atudt 4
P D P D P D P D
1 L72 .44 47 .69 .72 .56 .31 .25
2 .56 .50 .47 .56 .41 .69 .53 .31
3 .56 .50 .22 ,31 ,53 ,56 .44 .88
4 .56 .38 .59 .31 .50 .25 .66 .44
5 .44 .25 .63 ,50 .44 ,25 .47 .31
6 .50 .50 .41 .56 .34 ,31 .25 .25
7 .50 .38 .44 .63  ,56 .38 .41 .44
8 .47 .44 .44 .63 .53 .31 .50 .44
9 .38 .63 .56 .63 .38 .50 .47 .44
10 .66 .31 .38 .25 .44 .25 .31 .25




L] ﬂ!‘ g [ L
2, ‘mmmmwﬁauumamuumaanmwv 6].‘11’;;!@1’3‘ KR-20 =g4

aaed  Jyiadu (Ebel, 1979 : 279)

k ipq
rtt = —t— 1 o ——
k-1 82

t

) 1 L
gl rtt wu enudeduvesuuuvnaei
k  und Suude Tusuuvaaey
P und dasrdiuussginougnlusdazde
o 1 wied - J
q  unu derdivvesdfinevdaluurazee

S i auldsyiruaretas ud U iaua

1 1 -
MmanuSaduvedtvumasy mialeada

Rt 1
n = 10
2 = 2,27
2
S, = 7.26
UNUA Iuges
10 : 2,27
Itt =  —— l = c——
10-1 7.26
= .77

A4 o o o 1
Al Uil aeY UM 1 danfu .17
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wd‘
adiud 2
n = 10
Lpa = 2.30
2
s = 7.1
: 6
s lugns
10 2.30
rtt = — 1 - ——
10-1 7.16
= .76

AU e esuLIYRaoURIUR 2 T .76

V‘i'
aum 3
n = 10
Ipg = 2.30
2
5, = 6.30
1
unuan lugas
10 2.30
rtt = ——— 1. e—
10-1 6.30
= .70

o o o o
ANnFaLuvRILIIYAaey mivi 3 Jauil .70
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afuil 4
n - 10
ipg = 2,34
2
s, = 6.69
sy lugas
-
10 2.34
rit = e [1 % e
10-1 6.69
= .72

P & J < ¥
ALY BVUVBINLLVRADD RILV 4 umxﬂu .72
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1 2

b, b, by b, b, B,

1 14 16 12 15 19 20

2 33 22 18 16 17 16

3 19 18 17 11 10 10

a 21 33 19 9 15 6

5 28 30 23 18 13 27

6 16 30 18 21 8 14

7 19 30 25 17 22 9

8 20 32 21 12 16 18

9 24 28 14 14 11 17

10 27 18 31 11 12 21
11 17 18 15 9 19 14
12 16 16 20 12 14 14
13 15 19 15 3 19 20
14 14 19 15 11 10 6
15 22 20 25 17 16 12
16 13 13 i3 24 14 14
17 19 18 11 16 11 i6
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bl b2 bl b‘2 b1 b2
18 18 i8 i 24 22 6
19 18 17 11 25 27 21
20 21 13 10 16 i2 20
21 15 14 16 19 8 13
22 5 13 11 18 23 12
23 17 12 8 11 17 16
24 19 14 13 18 18 18
25 15 14 14 19 17 14
26 19 13 17 15 10 13
27 14 16 17 9 25 18
28 17 16 ‘17 9 26 12
29 17 17 10 i9 12 13
30 17 13 9 24 25 10
31 28 i5 15 11 10 25
32 29 12 16 12 7 &
33 29 16 16 21 1¢ 10
34 18 30 18 14 9 139
35 26 13 15 15 6 10
36 22 le 16 7 12 26
37 14 16 8 16 8 21
38 16 17 9 14 9 26
39 18 14 18 12 14 20
40 22 14 17 11 13 18
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#1731 12 (#0)

1 22 3

By b2 by °2 °1 %2

41 28 17 19 15 8 22
42 27 i6 9 13 8 24
43 22 12 30 13 10 22
44 16 14 8 24 14 22
45 28 17 15 16 11 22
46 16 9 14 8 15 19
47 11 17 18 15 8 21
48 15 14 18 24 15 17
49 20 15 13 i3 i2 13
50 13 15 9 12 16 17
51 22 11 13 20 12 18
52 18 13 18 14 12 16
53 28 14 15 15 8 18
54 9 11 16 13 10 15
55 18 il 17 11 8 13
56 20 14 16 19 le 22
57 15 11 9 12 15 19
58 18 15 13 16 14 20
59 23 12 16 7 11 18
60 i4 11 i9 9 10 15
N 60 60 60 60 &0 60
nX 1152 1607 927 887 819 994
EXZ 23900 18769 is5751 14441 12719 18040
X 19.20 16,78 15.45 14.78 13.65 16.57
SD 5.50 5.63 4.92 4.75 5.11 5.16

E
S 30.20 31.66 24.22 22.51 26.10 26,66
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atnanlalunisitasidoya

2.1 pumadrduaveda (X) dnnaldongas
¥

X = B

N

uny  andiavane

£
]
e}

X Y WATIUOIRZUUY
N WK 9IURI0E

oA . v
2.2  oumdd@wisayuinasg (SD.) dualaangas

a 2
NEX - (ZX)
sSD, =

N{(N-1}

e sD  wmi  avdnuivauinass
IX  uid Wanufid o uonsuuiiaas S
(EX) uwms NATINUBNAZ HUMYNIIUILENET A8
N wnu dnoudedis

2 S
2.3 ommsenuudsdsiu (8 )annuldaingas

2 2
, NIX - (£X)
S =
N(N-1)
o 2 '
e 5 18 TR STV R EVT1 £31 r OTI

IX  uvid WasuMadaseuengsuuundau
2 or ]
(ZX) Wl AO9H0URIN A TINUDIRS MU UINT IUIU

N AU 91UIUAI9E1S
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r
2.4  vageuanuiuianWfvasanuumibitnu dailunnvageudennag
L1 1 J 'y e, 0f o -
ilpwudenilsusinmis ANOVA nouflersivitlsmamermudgw Fidududon

iBnsveasuuaseniaiad (Hartley's Test) swmldangas

82 largest

52 smallest

2 dldl
Wle S° largest wm anuulituidengga

5% smallest umy ﬁ:1uuﬂsﬂﬁ1uﬁﬂdﬂﬁ15ﬂ

was mnamuInezld
2
8] = 30.26
2
55 = 31,66
2
55 = 24.22
2
o = 22.51
2
Sq = 26.10
2
Sf) = 26,60
'
unuA lugas
31.66
F = = 1,41
22,51

e C. 7 (Winer, 1971 : 875)
F 05 (6,59) = 211
max
WAN1INAoULINg1 muuiitiiuaesdoyaiDuaniiug

[Fmax (6,59} = 1.41 ; p > .05}
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2.5 M@ unliiian (Analysis of Variance) suuunanaisua

ziuamysm’lumaﬁwuﬂ 3x2 {Complefely Randomized Factorial Fixed

or

® 0 o o j’
Effect Model) laslddgansaluazgaslunsdwindsl

dadnpalluntmuie
N 2
2 (ABS) = [ABS]
1
N 2
(Z ABS) = [X]
1
npq
P q
I (ZA) = {A]
11
ng
a P _
I (I B) = [B]
1 1
np
P q
Z I (AB) =  [AB]
11
n
r < oo o v o z
hi) N umg swnudneuiisdniun veaessiarua
o umt dnoninduuitahiuntmmmassluusdagnquy
p uny ssduvesdiuls A (Iausldiieu)
q und szauvesdiuds B (nadfiiau)

):(ABS)2 (1T

(X ABS)Z 1

” g
HATIUYDIAL LU ULARS AZ UULENTTAINDIUDIAL UUUNIHUA

WA IV BIAT LU U TNHNAENNAIE 04
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9 . . o |
I A% WYL AL DA LUHUART A IUUBNAN B9 DIUNAT LUK LA
1

agigauuamals A
p L] a o 1
I B WYY WATINVOWPEHUUURRY AL MU UYNAAIE DIUBIRS L UIARE
1

whvuodduls B
pq 5 . .
I % (AB) UM WATILUDIAZ LU BIRAZ AZ IR LENI A3 09vU0IRE LU Y
11

ueazIYa AB
FRINTIANUIN
SStotal = [ABS] - [X]
SSA = [A] - [X]
SSB = [B] - [X]
SSAB = [AB]1-[A]-[B]+(X]
SS5w.cell = [ABS] - [AB]

a3e 13 asiessdeuugsdsau

Scurce 85 df MS F
1. A ss, p-1 S5, /df MSAMS;, cell
2. B SSB qg-1 SSB/df MSBIMSW.cell
3, AB SSAB {r-1)(g-1) SSAB/df MSAB,MSw.cell
4, W.cell S84 cell pq{n-1) S58y,cel1/dt

Total 5SS total npq-1

d’ ar a 1 & A
ez suuilaamnismasundaiana lngwming 14



i 14 asail AB
by b, 3
a 1152 1007 2159
a, 927 887 1814
a, 819 994 1813
Ny 2898 2888 5786
unue lugas
[ABS] = 23900+18769+15751+14441+12719+18040
= 103620
(X3 = (5786)2
N ——
(60)(3)(2)
= 92993.88
[A) = (2159)% + (1814)% + (1813)7
(60)(2)  (e0}(2} (e0}(2)
= 93657.05
[B] - (2898)% 4 (2888)°
(60)(3)  (60}(3)
= 9299416
[AB] = (1152)2 + (1007)2 + (927)2 + (887)
60 60 60 é;‘

(819)2 + {994

)2

60

94100.81

60



SStotal - 103620 - 92993.88

= 10626.12

S5, - 93657.05 - 92993,88
= 633.17

SSy = 92994,16 - 92993.88
- 0,28

85,5 =  94100.81 - 93657.05 - 92994,16 + 92993,88
= 443.48

SSw.cell = 103620 - 94100.81

s 9519.19

- g
e et 15 1édail

I 15 wamslenedemuulsUmuuunuvanesug

Source S5 df MS F

A 663.17 2 331,59 12,33%*
B 0.28 1 0.28 0.01
AB 443,48 2 221.74 8.,25%%
W.cell 9519.19 354 26.89

Total 10626.12 359

**p < 01
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2.6 NURENINaMaIvanaEnsdit (Simple Main Ef fects Test )

TaslWamesil (Winer, 1971

SSA at b1 =

58, at b =

55, at a =

SSB at a =

.SSB at a =

: 457)
P P
LaB, )2 - (B )?
il il

1 1

n np
P P
T(AB, )2 - (IB.,)°
1 iZ2 1 i2

n np
q q

A

L(AB. )% - (zA )%
1 13 1 1]

n nq
g 8]

2 2
Fi'.(ABzJ.) (%Azj)
n ng

g q
2 2
AB. . A,
‘E( 33) {§-3J}
n ng



15é

1-bdu [B103gg [B30L, 01
7p/ 1192 Mgg (1-u) ®d 199" Mgg 1199°M "6
[ 123" gy TV rp/9Vsg {1-b)(1-d) H¥sg av "8
M,_:mu.amsxmm e Hop sp/fe je Hgg 1-b e 1e Fgg ..mm e d 'L
1199 4/ %e e Hgpy 1p/%e e Hge 1-b e je 9gg e 1e g ‘9
119 gy Te qe Sgy 1o/ e 1e Ugg 1-b ® 1 s e ie g 'S
11ev i gy gy 1p/9sg -b SS g P
1192 Mg/ %q ye Yo sp/%q 12 Vss 1-d q e 'ss ‘g ey g
1192 mgy g ye Vg o/ q 3e Ygs [~d q 1e Ygg Tqiey ‘7
1132 g/ Vo 1p/Vss 1-d Vss v "1

E SW P ss 82Im0g

HLE[IL[EIRELEBHRLLWILILILY



157

ammensdanuhdny dideyainumianlugas

Simple Effect for A :

S5, at b, _ o (1152)° + (927)% + (819)7 - (2898)°
T80 60 60 (60)(3)
= 962,1
$S, at b, = (1007)% « (887)% « (994)° - (2888)°
60 60 60 (60){3)
= 144.55

Simple Effect for B :
(1152)2 + (1007)2 - (2159)2

SSB at a,
60 60 (60)(2)
= 175,21
SS_ at a = (927)7 + (887)" - (1814)
B 2
60 60 (60)(2)
= 13.34
SS,, at a = {819)7 + (994)" - (1813)
B 3
50 60 (60)(2)
= 255,21
Computational Check
ZSSA at bk SbA + SSAB
= 663.17 + 443.48
= 1106, 65
ZSSB at a, = SSB + SSAB

0.28 + 443.48

n

443,76
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AT 16 WansiagWnITveasun ansvmasinanagnehe
Source 55 df MS F
A 663,17 2 331,59 12,33%#
A at bl 962,10 2 481,05 17.89%%*
A at b, 144,55 2 72.28 Z2.69
B 0.28 1 0.28 0.01
B at a 175,21 1 175.21 6.52
B at a, 13,34 1 13.34 0.50
B at a, 255,21 1 255,21 9, 49%*
AB 443,48 2 221,74 8,25%%
W.cell 9519,19 354 26.89
Total 10626,12
* &k P <« .01
2.7 mMymedeuninTeuiiuunamiveses asRNaNanInaasIan

1 -y | | ’
otnshw Teedfwousvol (Scheffe ’s) (Kirk, 1982 : 370)

Ho

Ho

Ho

Ho

Ho

H

[t}

Tt

¥i (A)
¥i (A)
¥i (B)
¥ (B)

¥ (B)

at

at

at

at

at

C. MU, +Cr Ul =0
i it i

c. u +C- Url =0
1 ]

Cr M T ¥t 0

C u +C£u2r~=0

C u + C~ W+ =0
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v.2 (A} at b c¥.i1+cC ¥ 5172
i {A) a 1 i o) j ]
F = =
~ 2 2 2
o ¢ (A) at by MS W,cell (cj +C Jf)
Ik n
~ 2 - o - .2
¥ % (B) at a { CkY .3k + CkY,3K }
F o= i 3 _
“o%¢ (B) at MS W.cell (€2 (c%7)
a a3 « O _k+ _k
n n

Iaveguouiu Ho 61 F< F uazagdjas Ho e F>F  danns
dnpariid F o dudmwlaaingnsdail

pummamien Fdualdongnas
Vo By s vlvz = {p-1} E: V1V2

o p uwd SnHuAuRdY
o sedinlpdrenymsadd
v i UANRRY -1

\% uny Fuuvsanumiudaie = pin-1)

oifiun1smuey familywise error rate Wi .05 §idw
- 8/ B ) o J’
Jefoatliuf o wosldaT Simpie Main Effects samp’lil

(Kirk, 1982 : 369)

P +4 + pq
4 =
pHq
.05+.05+,05
1} =
3+2
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o

tdosn ¢ = .03 Willuesedidedald o« = o5 was

- 1
a = .01 sulendouumt navde 61 F o luiliiuddamaaddd L os uaag

4

Pliihiuddgmadatiedy .03 G uediivddymadatizdl Lol wan
fiusdym et o - .03 e

PNATBN 16 NNNMARLNANTITMABIYANDY13hY (Simple Main
Effects Test) winh dffuswsznnaisaueWifaudunaifiSuuad19hiy

drdymaadafiedy o1 uazifehinruizdvlavssdiunlsiSiawe Ififow

ugwudo

uandeiuinidvusadumlinalfifvuiuanaaiu dsdugidudanmmagon
nuffoufvunamsnaasardinnaiUnanivaasivdned e (esenwans

1]
AR NANTIMAADINENSUINNANINN INTe1TIUTIsaY A at b, uas

1
B at a, Awufifulamanisdinume B o figd A at b, Az
1 ! ar - L]
B at a, @ sswaziduanetud
1. *i"fll:»l Wi feusering 2, A a,

[(+1)(19.20) + {-1) (15.45)] 2

26.89 [(+1)f (-1)21

———

50 €0

14.06

0.91

15,45

Tas F aunynduialided

{(3-1)F. 01 & {3-1),3 (60-1)

. =01 44T V. Fy :
fl, MU g 0 14 1 T Vl'v'z

ZE,00 1 2,3 (59)

2F,01 : 2,177

0
n

4,71
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Y, MU @ = .05 vy By ¢ vlv2 = (3-1) F-OS {3-1),3 {60-1)
= 2F oo ¢ 2,3 (59)
= 2F oo+ 2,177
F = 3.04

e . v ! ' .
amAldannAIn (15.45) nanal F o (4,71) saaan

o

o t ﬁ( ar ] - o ey Y
UniTeunguitaumegangs lagn e uihenauduamu (bl) VUTE LA LDUN U

L ] J 1 ] J =4 at 1 o
dmzimulasaissnounienuies (a)) dmutdhlolunieumedingy

e -,

e of dn o d 4 o i < '
ﬂ‘lﬂ'a‘luﬂlfﬂum')ﬁlﬁu@)lﬂwugﬁgﬁ!gtﬂﬂ'ﬂlﬁﬁﬂlﬁ‘3“?\\“117?)1“&3@\1 (az) RITRN

hfbddgmaaianizdy .os
2. b, eI P EAYP RN a, W a,
“ [(+1)(19.20) + (-1)(13.65)}°
£ T 26.89 [(+1)2 . (-1)2 ]
60 60
- 30.80
0.91
= 33.85

- a AF O J’
lar F anniasuaaladsil

fl. MHua o = .01

il

ENHAN Vl FOI s V.V

1Vo {(3-1)F g1 : (3-1),3 (60-1)

]

2F g1 + 2,3 (59)

2F g1 : 2,177

F = 4.71
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U e @ = 05V, F o2 ViV, = (3-1)F g5 ¢ (3-1),3 (60-1)

= 2F g5 ¢ 2,3 (59)
= ZE;.D5 s 2,177
F = 3,04
AitlFann @I (33.85) wnphen F {4.71) uaasi
Wnfeunguitsumensaings Tasnngnmiznouduamw (b)) i auounugd
Sorzafenlasafoenounizeiuiios a,) o lolunnenumudangy
ganininFeuitinsauedechilunupide siduulaalealsznoy (a 3)
othwilledmeadiaftizdy o5
-

3. Wby W sufusg g a, fiy a,
) f(+1}(15.45) + (—1)(13.65}]2
b 26.89 1(+1) _ (-1)']
60 60
= 2.74
0.91
= 3.0

- o o &
e F aantomualaaad
. MHUA a = .01

HNUAT V1 Ft‘.! : V1V2 = {(3-1)}F g1 : (3-1),3 (60-1)

= 2F g1 : 2,3 (59)

= 2F g & 2,177

E o= 47
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Y., MY ¢ = .05 Vl E‘01 :Vle = {3-1 }F_05: (3-1),3 (60-1)
= 2F p5 ; 2,3 (59)
= 2F.G5 : 2,177
F = 3,04

-

Fdonmemung (3.01) deuntah F (3.04) wanviminduu
i J L) e 1 - -Jd-‘l o o
nauiaumedanae launuewhseeriuamn (b ) WS auounugive

-

-l J ar J ‘J LK. ] -
wifimilaruismasniseuies (a,) uazifiausiedhiliunuglinziny
J A L ol

lmuieukzney (a,) daani1le Tumasumsdangy Wuanenaiu
4 . a . .
7 b, LIYUNYLIE 1IN a; Ny a,
PNNIN 16 PINNVIVABIUNANTIIAABINANG IS (Simple Main
Eftects Test) w1 Wildiurimrewhatausbiiiauinaizituu
J ar ok e o ar
(A at b,) udae mzauvesnaifdeulaunisnudioniuiin (b,) dmiuw
i J o - - af -l J 1 J
nauiioumusangs leeisiawsunupidaiztduviaraionaunenuios
wo oo v o a -y al - o - i
(a,) uasriniisundguiienume isangs ledaueunupiidasiiiuulasaie
o J L - L] o
naInIBMuIes (a,) fanudhlalunmsdumedangehiuane v
-i' o -4 1 o
# b, Wikwiwmsnie a; (v a,
NN 16 VINANTVAFOUNANINAADINANDE 19N (Simple
Main Effects Test) wuiluiinie iuguiiditaus Wiieuiunaitbou
1 J o e ] ar -3 -
(A at b,) wanaivzavaenaliiisulaunnatuudianiiin (b,) Wni3eu
Vo o - - G - ) [] 1 4
ngaiie M 18angs lee i taveunugiidarzifiulean wisansun mauies
ar -k 1 d'l o = J - P =
(@) ) uazuiniFeunduiie umpdaings lasisauetechidunuglidassi oy

Tmwlealzney (a ) danudhlelunmaumsdangs biuaneraiu
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l b, nsuwbemsnin a, fuy a,
NAN 16 MNIMAFSLWANTIAaSANL 1w (Simple
Main Effects Test) wirl Wiifiursusenisimueliiivudunalsdun
(A at b,) uaeanThgAueInait Suulasn e uudieatiuin (b,) amiiuu
naiuﬁ'émmmé'anqﬂlmuiﬁLau-auwu@ﬂﬁ'mmﬁuu’im4L§aawﬁamzﬁms§m
(@,) uaztinunguiteumedinge lauis auededlaiiun ugisasifey
Tnsasealsznou (a;) demudnlelunirdmmudangs hiuansdieiu
f a, nfisuienznin b (b,
MNHVN 16 NN IIVAFDUNANINAABINANSYIY (Simple
Main Effects Test) wui Wifinduriwigniidfiaueduudunaiiifou
(B at a) ura vhiszduvedtaueWifeulanitiaueunugdSme iy
Teradnanaunsgmiies (a)) dnsunguilenaisdoulesnisdmdiznes

- ) J e o 1 LJ o« - ar
Juamn (b)) usgnduitlainadteulasnrmemudieaduiin (b,) Jeaandnle

Tunnguamdange ldiansanu

d' ] ar
#ia, nifunRyUIENg by, 1 b,
TINNINE 16 ANNINAFOUNANINAAIHENoH19w (Simple
Main Effects Test) wuin Wiiurhwszwiinddswue Widvudunaifou
t d‘ o -, anf | T - - tud

(B at az) sanaszauveNiaveiiiaulas S iausun ugidaszilovlae
F| ar 1 ] o . 1 ale W ad a 1
Heanaanioulien (a,) dnSyunaumignalfiiaulaunisouihiznay

- 1 J 4 - -l ] o » o]
funmn (b)) uaznguilgnaififoulasnmdmudioaduiin (b,) Jarw

e Tunsume 8ang i lulenseny
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-l bl -4 1 at
7 a, WINLLRUT S WIS b1 i bz

{(+1)(16.57) + (—1)(13.65)]2

FoT 26,89 [(+1)° (-1)2
60 _;E-
- 8.53
0.1
= 9.37

o o

- 2 -:’
lag F awnsadiva gl

e V. F: V.V

(2-1)F g1 = (2-1),2 (60-1)

1 @ 12
= 1F gy + 1,2 (59}
= 1F g : 1,118
= 6.85
Vl Fa : V1V2 = (2-1)F.05 : {2-1), 2 (60-1)

= 1F g5 ¢+ 1,2 (59)
= 1F.05 : 1,118

= 3.92

Afildemnuduan (5.37) mndwn E o (6.85) wsansinnideu
ndufleumy WanqeRintauaifechifumugidmsifvularwdswiznoy
(2,) TagldnaiBcuunsannbenordunmm (b, ) faudnlalunissm
s angugaminingouiilsnaii Guvulasnwewudieaiudin (b,) vt

1
drdraggmsaiaiizan . os
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Teacher

Teachers are important people to students,

167

f

Guiding them Giving them Devoting Being their Helping
in the correct all their themselves second them to
way, knowledge, to their parents, siucceed
work, in life,
DETAIL DETAIL DETAIL DETAIL

DETAIL




168

Agadl 1

Teacher

Teachers are everything to their students, They train
students to be good people with discipline and morality, They
teach all the students with sincerity and give all their knowledge
to their students, They devote themselves to their work, What is
meant by the word "teacher"? People say, "teachers are our
second parents", and, "the teacher is a ferry that takes students
across the river of life", Then they come back to take other
groups of students, Teachers never complain or feel discouraged,
They keep on working. Teachers can affect the growth of a new
generation, We must obey and pay respect to our teachers and
pay attention to what they say., We must look for a chance to
repay them as best as we can because teachers make us
successful, On Teachel_"s Day, we like to pay respect to all
teachers and pray for God to bless them and give them good

heaith and happiness always.
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1. What are students trained to be 7
a. to be polite.
b, to be courageous,
¢, to be successful,
d. to be good,
2, What do teachers do 7
a, They work hard in the school,
b. They give their knowledge to their students,
c. They take the students across the river,

d. They pay attention to their students,
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Which thing do we compare to teachers ?

a. a boat

h, a ferry

¢, a river

d. a ship

How often do teachers complain about their work ?
a2, They seldom complain about their work,

b. They always complain about their work.

¢. They often complain about their work,

d, They never complain about their work,

Who can affect the growth of a new genetation ?

a, Teachers

b. Students

c., Parents

d. People

What can we do ito repay our teacher's goodness ?
a. We can help with all the teacher's work,

b. We can help all of our friends,

c. We can obey our teacher,

d. We can do a lot of homework,

What does the word "The growth of a new

generation” in this passage mean ?
a. Good teachers

b. Good students

c. Good people

d. Good parents



Read this sentence and then answer questions 8-9,
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*We must obey and pay respect to our teachers and pay

attention to what they say'

8.

lo,

They word "we" refers to ..a.cieeemn

a,

b.

C.

d,

people
Students
Teachers

Parents

The word "thev" refers 10 ,.ceveeceee

d.

b,

C.

d,

Teachers
Students
Parents

People

What ideas do we get from this passage ?

a.
b.
Ca

d,

Teachers must be clever and kind.

Teachers must help students in every way.
Teachers must have good health,

Teachers are our second parents to make us

successiul,
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Clever Student

An intelligent student must do several things,

Behave good, Be polite, Work hard, {Be seli-confident.
know what know how 1, Always listen Do the
they should to speak to the teacher, Iight
do and when, and behave. 2. Take notes in things.,

their notebooks,

DETAIL

3, Raise their

DETAIL hands and DETAIL
ask questions,

4, Read a lot of
books,

5. Help their

friends,

DETAIL
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Clever Student

An intelligent student isn't a student who has a grade
point of four in every subject or who has won the first prize in
the class, Intelligent students are students who act in the
right way., They know what they should do at this or that time.
Intelligent students must be polite, hard-working and seli-
confident, They should speak and act in the right way, They
alwavys listen to their teachers and make notes in their notebooks,
When they don't understand something about the lesson, they
usually raise their hands and ask questions, Reading books helps
them to understand their lessons and when they understand, they
can do their best in the examination. They like helping their
friends, They dare to do everything in the classrodm that they

think it is right to do. They never miss a chance to learn.
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1, Which sentence is true according to the passage ?
a. An intelligent student must get a grade point of
four in ex?ery subject.
b, An intelligent student must win the first prize
in the class,
¢. An intelligent student musi speak a lot,
d, An intelligent student must listen to the teacher

and make notes in hls notebooks,
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Which sentence is not correct 7

A,

b.

C.

d.

Intelligent students act in the right way,
Intelligent students don't know what they
should do,

Inteliigent students should be polite,

Intelligent students should be self-confident.

What should students do ?

a.

b.

d.

They should know every student in the classroom
They should work hard both in their scheols

and in their homes,

They should ask their teachers a lot of
questions,

They should help every friend in their schocl,

Who likes helping their friends in this passage?

Q.
b.
C.

d.

Polite students.
Couragecus stuwdents,
Deligent students,

Intelligent students,

Where can we get knowledge ?

d,

b.

c.

d.

form our teachers,
from our parents,
from our friends.

from our neighbours,
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6, The best statement for "an intelligent student"

a, An intelligent student works 24 hours a davy.

b, An intelligent student always listens to the
teacher,

¢, An intelligent student knows everything.

d. An intelligent student is the one who has won

the first prize in the class,

Read this sentence and then answer questions 7-8.
"Reading books helps them to understand lessons and
when &ex_r understand they can do their best in the examination®.
7. The word "them" refers 10 ..ceeeess a
a, Intelligent students.
b. Poor students
¢. Students
d. Parents
8. The word "they" refers t0 ...cceesee ¢
a. Students
b. Poor students,
c, Friends

d. Intelligent students
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What does the sentence "They like helping their

friends" mean ?

de

d.

Intelligent studentis help their friends to
understand the lessons.

Intelligent students give books to their friends,
Intelligent students teach lessons to their
friends,

Intelligent students punish their friends,

How do you understand the sentence "They never

miss their chance to learn" 7

a.

We must learn by ourselves,
We learn only in the classroom,
Learning happens all the time,

We must learn {rom our parents,
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Cigarettes

178

MAIN IDEA | Cigarettes“ére dangerocus both to life and to society,
Both men A big 1t is dangerous|{|The advantages!|{The disadvantages
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gnoke them, all over who smoke ~ Being happy.||-Having lung
the world.|| and those who - Relaxing, cancer,
never smoke, -Making "Carbon
DETA1L DETAIL monoxide™,

Y

Men =moke

motre than

wWoIme .,

DETAIL

DETATL

y

The government
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Cigarettes

Cigarettes are dangercus to life and poisonous to society,
You may know this saving well, But nowadays, many people, both
males and females, are still smoking. This is not only an
important problem in Thailand but all over the world, It is
dangerous not only to people who smoke but also to those who
never smoke, Smoking cigarettes has both advantages and
disadvantages, The advantages are that the person who smokes
feels happy and relaxed., On the other hand, there are
disadvantages too. The most dangerous disadvantage is having
lung cancer. The lungs of a person who smokes devolop at a
slower level than normal., Poisonous smokes from cigarettes is
called "Carbon monoxide", It destroys the oxygen that is supplied
to the brain. If you continue to smike, you will lose a lot of
money, In Thailand, the government has issued strict laws to
protect non-smokers and penalise those who smoke in public
places. This problem should be tackled step by step by informing
people that smoking is dangerous to their health., Schools are
the best institution to inform students. Please stop smoking

from today on for good health in the future,
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1. Who is still sﬁoMng ?
a., Males
b. Females
c. Both males and females
d. The students
2. Which sentence is correct ?
a, Smoking cigarettes is an important problem
only in Thailand.
b, Smoking cigarettes is an important problem
all over the world,

c. BSmoking cigarettes is dangerous only to
people who smoke,.
d. Smoking cigarettes is dangerous only to

people who never smoke,



How do people feel after they smoke cigarettes 7

a,
bo
c.

do

He feels discouraged.
He feels normal,
He feels sad,

He feels happy.

What is the effect of poisonous smoke 7

a.

lung cancer
carbon monoxide
OXVgen

problems

Why should we stop smoking cigarettes 7

a.
b,
c.

d,

"This is not only an important problem in Thailand

to save our money.
for cur good health,
for our family,

for our country.

but all over the world".

What ideas do vou get from this sentence ?

a,

The problem of smoking cigarettes is a hig
problem.

Smoking cigarettes is a problem that occurs
in Thailand.

Smoking cigareties is a problem that does
not occur in Thailand,

Smoking clgarettes doesn't make a problem,
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What is the main idea of the passage you have

read 7

a. Males smoke cigarettes more than females,

b. Females smoke cigarettes more than males,

¢. Smoking cigarettes is a big problem,

d. Smoking cigarettes is dangerous both to life
and to society.

How can you stop smoking cigarettes ?

a, Do a lot of work.

b. Don't talk with your friends,

c. Remind yourself of the disadvantages of
smoking cigarettes,

d. Try to forget it,

"This problem should be tackled step by step by

informing people that smoking is dangerous to health!

Which sentence is true according to the sentence

above ?

a, The government must make the people know
how dangerous smoking is,

b. People will know the dangers of smoking
cigareties by themselves,

¢. Smoking cigarettes is boring.

d, The people have no money to buy cigarettes.
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What will happen if students see their fathers
smoke ?

a, They will pay a lot of money.

b. They will get lung cancer,

c. They will have good health,

d. They will also smoke in the future.
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Parents

Parents are very

important persons,

What do they do for us ?

wWe were

Wark hard.

Take care of us since

born,

Guide us to be good people.

Give us a good education.

DETAIL

What can we do for them

in return ?

Obey them,

Do well,

Tell the truth,

- Ask permission.

Go to school every day.

Help them at home,

DETAIL
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Parents

Our parents are very important persens. How are they
important ? As we all know, the famlly is one of the most
important units in socieiy. The family is the basic way to reform
the behavior and the attitudes of people, and the ones who play
an important role in these small units are parents. vThey are
usually out working all day. They looked after us irom the time
we were born. We are trained by them to be good. They hope
we will be well - educated, It is necessary to obey our parents
because they have taken care of us since we were born, “We
must obey our parents in return, We should do everything which
will make them happy and not disappoint them, We should let
them know all that is happening. We should ask permission from
them before we do things. We must go to school every day,

We must help them to do work at home. Our parents will be

very proud and very happy il we always obey them,
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‘1, When was our behavior and attitude reformed ?
a, since we were born.
b. when we went to school,
. when we had a job,
d. when we staved at home,
2. Which sentence is not cotrect according to the
passage ?
a, OQOur parents can not go to work because they
must look after us,
b. OQOur parents are very important persons,
c. Our parents train us to be good.

d. Owur parents give us a good education,
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Which sentence is correct 7

a.

bo

C.

it is necessary to obey our parents,

It is necessary to look after our parents.

it is necessary to give money to our parents,
It is necessary to let our parents know

everything,

why should we obey our parents ?

a.

d.

Because we will be punished if we do not obey
them,

Because they ask us to obey them.

Because they have taken care of us since we
were born.

Because teachers ask us to obey them,

What can we do for parents in return ?

a.
b.
c.

d.

We should stay at home all the time,
We should look after them.

We should work hard to get a lot of money.

We should do things which will make them happy.

Which sentence is correct ?

We sometimes disappoint our parents,

We will not disappoint our parents,

We should not let our parents know all that is
happening.

We work 24 howrs a day.
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Which senience is not correct ?

a. We should make our parentis happy.

b, We work 24 hours a day at home,

¢. We must go to school every day.

d. We must cbey our parents.

How do our parenis feel if we always obey them 7
a. cheerful

b. good

c. Iimportant

d. happy

"We should do everything which will make them
happy and not aisappoint them’

The word "we" refers to .iceeee

a. Students

b, All of us

¢. Teachers,

d, Friends.

Which behavior is the most important behavior of
the parents ?

a. Giving thelr children a lot of money every day.
b. Working hard all day,

c¢. Taking care of their children,

d, Talking with their children all the time,
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1 d d C a
2 b b b a
3 b [ d a
4 d d b C
5 a a b d
6 c b a b
7 c a d b
8 b d c d
9 a a a b

10 d C d c




